-
L---- e W W B e T N T ST ———

I — L S ‘ .
paper | [Objsttive) SEC-A-2018
= -

Time Allowed : 20 Minutes SSC (Part- | s
Maximum Marks : 15 Session | 202-14 | E}!H - @

L] &

| t

: .;..}I“.Jrr_n..gié_: D,C, B, Aeliealed e ¢ e
'i'l'f..l.l";ﬂq--I'E'NI&#WJJH“LI‘IU’F'WF&G—A{I

i mre jjbven. Which choice |s correct, Il thal clrcke i lromt of  thel guesden

of perte 1 the circles. Cutling of THing e 0 amore cireles will result in perg merk in thal guestion

| et N e B3 7] # A=[12] A|14%

ly A= [1 2] and ﬂ"'[az 1"] then * AD " is equal 1o 1 (1)

A 1 I 1 BTN 4 ML ) B

Factors of i + 27y — Ladsoml el vy @)
[hdr].{hzv*!}'z] 18} [b+3:rl 1i-z+‘='-*3f=| (A)

2
[ - .JFI.HIJ by 4 By (I [2x + 31-} [4.:1. -bxy + "-"_r ] .{Fl
log (m' ) can be wrilten as ¢Fr:‘{f —_— Jriln-,q[m (3
Iugi_mrrh (o n log m i)  nmiTogmn (4 |:In-|[.-,m }" [4'.]

= S
e e e i L = § e S ———

The mlrnlll:n -&" ' r ' E and’ & are called — H:r,a{_" e f r r nl_ a1 14}
| Hational Mumbaers sl e (1 ]l'l'ﬂll_ﬂl'lll B umlers Jl...url;_,,’!‘l:l,.--jr (A
Whole Numbers jui P (D)  Namzal Numbers il ()
PL L equal  to t = slg &3 bf’ {5)
fa « b)ad-ab e b5) (B (a4 -b)aZ eab e bE) (A
{a = b)ia® +ab - b2 i) [a -bjfa® - ab + b2 (i}
Point (2, -3) lies in Quadram : LB gF (2, -3 8| (8)
v m  m Il’l n (K] 1 (A}
-":_:’q;__..u',';l: T € x "%ﬂ'l'r","-;‘t il
X - s a solution of the ineguality -2 €« < E'— -
% ) i i) 3 (") -5 (A)
HOF of x- 2 and :1*:-& R m— - J‘ﬁhil’tli*t-& KN urt (8}
ek’ @ (aeb) © z""’ £b ) ...._‘.'_*._."-' L)
4;.4.;.='.nr of the points (2.2} and (0.0} b = —-—.ﬁdwrf (2,2) « (0,0) &8 (B
| ==} (0] {411 [} {1, @) (8) (1,1 (Al
Bisection  means b divide into ——— equal  parts emhfrffq.ﬂu.r".:ﬂ:— e aezn (10
None of thess ..,.'E'_T_lr’.'-:.;.':-;.ll {1 4 il 3 (B 2 (A)
The diagonals of 3 parallelogram —— each other - ¥ A ---—L.E'_ﬂh.gf'n’_--ﬂ.-#dlljjri" (1)

Nome  LEUTH (D) Bisect al right angle SRSl 1) Trieol A8 (B) Bisest 7 (A} |
TP iannie 30 L lKaB b i (1)
If one angle of right triangle i 30”7, the Hypolenwse iy —— ax long as the side apposiie to the angle 12
Nane of these 80 (D) Fourth (6g (C) Thrice 558 M) Twice 5 (A
Ratio has wunit cdn—dnfed 3y
Yard S Meter 0] Centimeter EE B No Unit 000 (A
h o L A L L b sl NERLSIEIFE | (14)
Area of a Parallelogram is —— fo the product of base and height 1
Equal < (% Different 2 (0} Same  edl (1) Unequal o s A)

u_:'_hl'

S T T TR

Find " m * =0 that 11 ¢ dy = m is a complets Square : I :'z*hd-m =ty ~me |18
% (D) 4t . il iB) Ao (A

P i e e

e M Ll e T T T o ol R B o o . ) - T L e i e J-.

e e R i b T I N —

e




